5 TH AR - {1 BF 4k B 090226 p=5 : #11 ~#14 (8 fif)

A A A S A S A A S S S A S S S S R A S S S AR S S SSA S A A A S AY S

] Bp(K5-49) v—data:#14 DS :[#14-1]
tkk (4,4,4,6,6,6)

dekkok ko kkokk ok kkokkkok ok ok hkokck ok shok ok kok ko sk ok ko kok sk sk sk hok ko sk ok sk ko sk osk sk sk kb sk ok ek sk ok sk sk sk ok s sk sk sk ke sl s ok o
#(1,2),(1,3),(1,4),01,5),(2,3).(24),(2,5),(3,4),(3.5),(4,5) # 14

##4.,4,4,6,6,6 #5-4 (473,6"3)
*158-3%1610-4%179-2*2-56-80-4%2810-76-3*310-9-57-4
dekckkkokkckokkkkkokkkokkkhk bk kokokckksk ok ok kok ks kok ko sk ok ok sk sk ok hok sk k sk ok sk okl ok ok sk ke kb sk ok sk ks k ks sk kb sk ok ke sk sk sk sk ok ok
*158-3
*1610-4

* {792
*2.56-89-4
*2810-76-3
*310-9-57-4

dokkkokkokkkkokkkkkhk kb k ok kkkk kb ke kok ok ke ke ke k kb k

+ Matveev(M5-30A)&BLEDS

- BEREDTEE - S°/Ps
- Seifert fii& : M(S?, (2,1), (3,1), (4,-3))

*HM) = 2, Matveev (M5-30A)

e 3 ok o ok 3 e ok o ok ok ok sk ke o o sk o 3 ok ol o e ke ok e ok ok ok ok ke ol ofe o ke ok ok ok ik ok ke kskok ok

4,
(K5-49)

http://math.cs.kitami-it.ac.jp/ ~ kouno/DS-diagram/DS... 09/06/08 E kil



